=V
Fantastic
Furniture

Version 1.0

Two People

Nelson

Queen Bed

Required fantasticfurniture.com.au



Looks like you’ve found
your Fantastic!

We’re thrilled you’ve chosen Fantastic Furniture
to help create a home you’ll love!

=
Fantastic
Furniture

r - - N
Love 1t? Share 1t!

Fantastic buy! Share how it looks at home on Instagram for
your chance to win a $250 Fantastic Furniture Gift Card!
@fantasticfurniture

- J

v
Fantastic

. . Furniture
fantasticfurniture.com.au

Page 2



Assembly checklist

= v v
apd M
n d\|/ 4
Fﬂ%ﬁé

Read through the instructions carefully Make sure you have all the required tools.
before you begin. Never use power tools unless instructed.

w of %

I\ e\ M= =

Identify and lay out all of the components Unless instructed, do not fully tighten screws
before you begin assembly. until the item is fully assembled.

Useful information

I Never use power tools unless specifically instructed. They can damage your components or
hardware if used incorrectly.

I The most common mistakes made during assembly are using the wrong hardware or getting
components back to front.

I Always use a soft surface (such as carpet or cardboard) when assembling your product to
avoid scratching or damaging the surface of the product.

I Bulky items such as wardrobes and bunk beds should be assembled in the room they will be
used in as they may not fit through a door once assembled.

I Never use any glue until you are certain that the parts belong together.

I Periodically check and re-tighten all fasteners. Check the product care label or website for
product care instructions.

I If you are having any difficulties assembling your product, missing any hardware or
components please visit our website Help Centre for further assistance.

! Please see page 2 for any safety requirements or weight restrictions.

-
Fantastic
Furniture

fantasticfurniture.com.au
Page 3



What you need

to assemble the product

DO NOT USE (P8)

Bed Head Part 1L

CenterRail |
(P7)
Cente q J U p

@
i ,._-ggnter upports P2)

— il Sierail

U

Parts list

Bed Foot (P1)

Side Rail I (P2)

Side Rail II (P3)

Bed Head Part I (P4)
Bed Head Part II (P5)
Center Rail (P6)

2 x Center Supports (P7)
Wooden Slats (P8)

Hardware pack

- | (t((««(«(««((((««(«((((««

12 x Bolts M8*18 6 x Bolts M8*40 Allen Key
(H1) (H2) (H3)

-
Fantastic
Furniture

fantasticfurniture.com.au
Page 4



Step 1

Two People

You will need SN
(1 N‘ ‘ S‘ ?
3 x Bolts
All )y
mevg (Hr) | Ao Key (9 i
| Required

_______
I ) - ~
- ~
y 2 . S
e Se
Z . —
.
2 .

7 Attach Side Rail I (P2) to
\@) | the Bed Foot (P1) using
HI | 3 x Bolts (H1) as shown.
Tighten Bolts (H1) with
"""""" the Allen Key (H3).

Step 2

You will need e

f P ITTIIRIIN
(1 W

i \
3 x Bolts '
ME*18 (H1) Allen Key (H3)

| H1
A
u P3
p2 )
Attach Side Rail II (P3) to
. the Bed Foot (P1) using
3 x Bolts (H1) as shown. ‘u’l
Tighten Bolts (H1) with =
the Allen Key (H3). Egp;gﬁ;g
fantasticfurniture.com.au

Page 5



Step 3

You will need

U

2 x Bolts

M8*40 (H2)

Allen Key (H3)

| P1

____
.

Two People

.
gy =

Required

Attach Side Rail IT (P3) to
the Bed Head Part I (P4)

using 2 x Bolts (H2) as shown.

Tighten Bolts (H2) with
the Allen Key (H3).

Step 4

You will need

U

2 x Bolts

M8*40 (H2)

Allen Key (H3)

i P

fantasticfurniture.com.au

- .

\ \
® e o

.....

Attach Side Rail I (P2) to

the Bed Head Part I (P4)
using 2 x Bolts (H2) as shown.
Tighten Bolts (H2) with
the Allen Key (H3).

-
Fantastic
Furniture

Page 6



Step 5 Two People

You will need D &
| i =
1 x Bolt T |
Mg () | e Ky H3) = — -
..o — | Required
=, I
| P4 —
— e 17" s
U ()
J |
|
Attach Bed Head Part II (P5) \ 1 @
to the Bed Head Part I (P4) R (R
using 1 x Bolt (H1) as shown. SN ‘ .
Tighten Bolt (H1) with i P
the Allen Key (H3). R -

ste 6 ______
- ~
p . ~.
. ~
. -~
. N
.
.

¢
You will need }
"l( ......... { ' ,—\E B
1x Bolt ' :
ME*18 (H1) Allen Key (H3) . H1
, T W{
I
Attach Bed Head Part II (P5) \
to the Bed Head Part I (P4) u
using 1 x Bolt (H1) as shown.
Tighten Bolt (H1) with \,‘:‘l
the Allen Key (H3). Fantastic
Furniture

fantasticfurniture.com.au
Page 7



Step 7

Two People
You will need ‘= L~
| o
/v\zsi ABOO'(t:a Allen Key (H3) —| M
— Required
5 |
B T :
| N il I S
B7 )
J =H2
) §
| H
Attach 2 x Center Supports (P7)
to the Center Rail (P6) using
2 x Bolts (H2) as shown. 2
Tighten Bolts (H2) with |
the Allen Key (H3). Ll .
Step 8
You will need L
, =
| M
4 x Bolts . == |
meHs (H1) | len Key (H3) 1 Y 1
= = - PG -
P, ’ .
_______ 3)
|
l‘ » ‘
Attach Center Rail (P6) to O
the Bed Head Part I (P4) =9 : ;
and Bed Foot (P1) v %x"
using 4 x Bolts (H1) as shown. )
Tighten Bolts (H1) with H1 o
the Allen Key (H3). -
-------------- Fantastic

fantasticfurniture.com.au

Furniture -
Page 8



Step 9

Two People

.
gy -

JAl{

Required

‘ Place the wooden slats (P8) onto
Side Rails (P8). Make sure
“ the velcro tape is fully attached.
Repeat this step for the second
set of wooden slats (P8).

Step

“
Job cbmplete!

In the interest of our environment please dispose
of all packaging thoughtfully.

-
Fantastic
. . Furniture -
fantasticfurniture.com.au

Page 9





